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21
2














xy  

 

y = x
2
 – 2x + 3 

 

 

y = x
2
 – 4x + 3 

 

 

1













2

2xy  

  

 

y = x
2
 – 6x + 5 

 

 

43
2














xy  

 

  

 



 

Nuffield Free-Standing Mathematics Activity ‘Completing the square’ Cards   Copiable page 2 of 8 
© Nuffield Foundation 2011 ● downloaded from www.fsmq.org 

 

21
2














xy  

 

y = x
2
 + 2x + 3 

 

 
 

y = x
2
 + 4x + 5 

 

 

12
2














xy  

 

 

y = x
2
 + 6x + 5 

 

 

43
2














xy  

 

 

 



 

Nuffield Free-Standing Mathematics Activity ‘Completing the square’ Cards   Copiable page 3 of 8 
© Nuffield Foundation 2011 ● downloaded from www.fsmq.org 

 

2
16













  xy  

 

y = 5 + 2x – x
2
 

 

 

y = – 1 + 6x – x
2
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y = 5 – 2x – x
2
 

 

 

y = – 1 – 6x – x
2
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y = 2x
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y = 2x
2
 + 4x + 1 
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2
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y = 5 – 4x – 2x
2
 

 

 
 

y = 1 – 8x – 2x
2
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y = 5 + 4x – 2x
2
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y = 1 + 8x – 2x
2
 

 

 

 

y = 5 – 6x – 3x
2
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y = 5 + 6x – 3x
2
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